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YHonors Chapter 3 HW #3 (Review and Word Problems)

INSTRUCTION: Do problems on notebook paper and attach to the back of this hanout. Clearly show
your work to receive full credit and circle your final answer.

Solve AND Check the equation.
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3. 5(2-x)+2x=-3(x+5)
4. —% (18x-12) = 5 - 3(4x— 1)
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5. 18 is what percent of 160? Write the proportion to solve. ON TEST SoLy ¢

6. 185% of 50 is what number? Write the proportion to solve. B~.{

7. 3.2% of what amount is $15? Write the equation to solve. @ Propo ,mon Methad
rs _ %

8. 42 is what percent of 400? Write the equation to solve. OF T 109

o B _ @ BEovatunw Metha d
9. What distance is 24% of 710 miles? Write the equation to solve'."_d 1S9 = gF—y mu\+
D % — decim el

w—#dumniagmemlé_:_é'g—hfg Solve for k. Use the new formula, h, to find height for a cone
with V=200 cu. ft; I1= 3.14; and r=12ft. Round to 2 decimals.

|
\ +1-:—A:nnu&l=mter«est~Rate:“;4“E?“-m°*r-t-Q* Sclve for r.

Rewrite the equation so that y is a function of x. WS TEST —2 bsz mx+b

12. %y+4=2x | t cuyg pé,n.,fk:W}

13. 717-(49-7y)=5x+3y+14

14. A car uses fuc;_}/_/,atfa%a“'t:of 32 miles per gallon. Predict how many miles the car can travel on 22.5 gallons of
WM€ ‘a variable and write a proportion.
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A local gym charges nonmembp‘s 8 per day to use the volleyball courts. Members pay a yearly fee of $15

» and $2 per day to use the voli€yball courts. Write and solve an equation to find how many days you must u:

the volleyball courts tg)uﬁ'tlfy becoming a member. Also, state the key information, define the variable
and equation, a/datnswer in a full sentence.

Two friends live 15 miles apart. %{ay, they decide to jog and meet each other. Tanya leaves her house and
heads east, jogging at a rate of /7.5 miles per hour. At the same time Kelly leaves her house and heads west,
jogging at a rate -iif?les per hour. How long does it take for the two to meet? Also, state the key
information, define tfie variable and equation, and answer in a full sentence.

Doug Upp can shovel coal a}g;rafe 5716 tons per day. His brother Sid can shovel 10 tons per day. Doug
starts shoveling and 3 days Tater Sid j joins him. Doug and Sid shoveled 100 tons together. How many days
did Doug shovil/l-l'(w much coal did Doug and Sid shovel each?

State the key information,define the variable(in terms of one of the brothers); write an equation, and
answer in a full sentence.

27.4y-11.2="73y-12.6 Solve and check. Round the solution to two decimal places.
Tx-29-21x=3-(12+2x) Solve and check. Leave the solution as an interger or improper
fraction.
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